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Southwest Airlines sale-leaseback

In the early and mid nineties, Southwest Airlines engaged in a variety of sale-leaseback transactions in which it sold some of its airplanes at a gain, then immediately leased them back from the buyer. The gain on the sale is immediately taxed for tax purposes, but is deferred for financial reporting purposes. The deferred gain is then amortized for financial reporting purposes over the life of the lease.

Excerpts from Southwest’s 1995 financial statements that relate to these sale-leaseback transactions are provided below.

LIQUIDITY AND CAPITAL RESOURCES

Cash provided from operations was $456.4 million in 1995, compared to $412.7

million in 1994.  During 1995, additional funds of $321.65 million were

generated from the sale and leaseback of ten new 737-300 aircraft subject to

long-term operating leases.

SOUTHWEST AIRLINES CO.

CONSOLIDATED BALANCE SHEET

(in thousands except share and per share amounts)

December 31,

                                               1995          1994    

---------------------------------------------------------------------

LIABILITIES AND STOCKHOLDERS' EQUITY

Deferred gains from sale and

  leaseback of aircraft


     245,154      217,677

According to the statement of cash flows, amortization of deferred gains in 1995 was $24,286,000.

11. INCOME TAXES

Under SFAS 109, deferred income taxes reflect the net tax effects of temporary 

differences between the carrying amounts of assets and liabilities for 

financial reporting purposes and the amounts used for income tax purposes.  

The components of deferred tax assets and liabilities at December 31, 1995 and 

1994 are as follows (in thousands):

                                                     1995       1994   

                                                   -------     -------

Deferred tax liabilities:                   

     Accelerated depreciation_____________        $400,321   $343,585

     Scheduled airframe overhauls_________          27,129     23,966

     Other________________________________          68,458     55,953

                                                  --------   --------

        Total deferred tax liabilities____         495,908    423,504

Deferred tax assets:                        

     Deferred gains from sale and           

        leaseback of aircraft_____________         106,119     95,602

     Capital and operating leases_________          54,472     38,240

     Alternative minimum tax credit         

         carryforward_____________________          11,333     22,778

     Other________________________________          52,810     43,856

                                                  --------   --------

        Total deferred tax assets_________         224,734    200,476

                                                  --------   --------

        Net deferred tax liability________        $271,174   $223,028

                                                  ========   ========

The provision for income taxes before the cumulative effect of accounting

changes is comprised of the following (in thousands):

                          1995             1994          1993  

-------------------------------------------------------------------

 Current:

   Federal__________     $64,420          $59,603       $46,744

   State____________       9,947           10,702         5,409        

                        --------         --------      --------

    Total current___      74,367           70,305        52,153

 Deferred:

   Federal__________      44,580           46,470        48,524     

   State____________       3,567            3,417         4,676 

                        --------         --------      --------

    Total deferred__      48,147           49,887        53,200                              

                        --------         --------      --------

                        $122,514         $120,192      $105,353

                        ========         ========      ========

The effective tax rate on income before cumulative effect of accounting changes

differed from the federal income tax statutory rate for the following reasons

(in thousands):

                                  1995              1994             1993 

---------------------------------------------------------------------------

 Tax at statutory                                           

   U.S. tax rates______        $106,799          $104,833           $90,873

 Nondeductible items___           4,488             3,689             1,361

 State income taxes,                                        

   net of federal                                           

   benefit_____________           8,784             9,177             6,632

 Effect of increase                                         

    in U.S. statutory                                       

      rate_____________             -                  -              3,957  

 Other, net____________           2,443             2,493             2,530    

                               --------          --------          -------- 

 Total income tax                                           

   provision___________        $122,514          $120,192          $105,353

                               ========          ========          ========  
Questions

1. Southwest appears to have a 1995 U.S. federal income tax liability of $64.42 million. Use the information provided to estimate Southwest’s 1995 regular income tax liability (before any minimum tax credit) and its 1995 tentative minimum tax.

2. I estimate that Southwest’s gain on the sale-leaseback of the airplanes was about $52 million (why?). Use this estimate to determine how would your answers to question #1 above have changed without the gain from the sales-leaseback transaction.

3. Why do you think Southwest engaged in the sales-leaseback transactions? 

